Ci= SR A2H HIx| S

=5 4Y/HIE o[0ix|

DY ELH U AR UL wEo| BTE A0 HOIE

s |

suzay |f

iy
8(8|8(8|8|

K1746 HE| 82 AAHS ST ALY,
= K1749 RIE| S2HUS DHA E27t 2= x| FYU=,
=g K1750 UE| SAYB ES DA E2 1 B,

© HEINRICH KIPP WERK GmbH & Co. KG

HH.
CHE 33 AlAg
gL 2 JES

g+ A&t

2.DINV [} AR FHE ATFS HE &3 AlAH _=.'o| 200mm¢!
bt M2 2T A|AEHEZ @g25mm {l x| & 4 |¢ ZtZ40] 96mm
M=z 2RI AILRE g16mm IR £5. T-&% E1I0| ol Mz &

712 M2 |8t 18H70| /= Ml 7He| X3 'E‘% 6 T+ 7t70[ 40 &
50mm@l a2|E A|AEE HE 7 312F7 L G16F7.

Ml 7FX| CHE TS AL E 5= &L

-1H TR ES/K18280| s YFHCIE SEE AAH x| 2T
-I1H EQ2 DS/K18297} e YT LIS SHE AIAH x| 2=,
-Ck& %%’1%,' AAE T X2 ES/K18300| = $H% THof /x| 2
=,

7|= Hlo]E:

AAE ZE 50
Z|cH 2 E 142 15 kN
Z|CH 2 E3: 55 Nm

AAE £ 72
Z|cH 2 E 1} 25 kN
Z|CH 2 E3: 60 Nm

AAE ZE 100
Z|cH 2 nt2l: 35 kN
Z|CH =& E3: 85 Nm

o|E:

Z0|7} CHE of BT AIAHS M2 oM £ LiEHs| ZRIE 4
ULt He 7|2 n-HA 29| 01 H=Et ui X7t 7Hs & LICH
ST ol A =302 1R 520 RE AXIE 7S sn
S50l 40| SUsHH ZHE £ USLICL S LIAF Bols ASS

St A OlA
ZEE = J&Lich

o|u|-7t-|o§ S5 AL VIS,

e ol 2Eo|M 2 720 ZEMKLE & oAl 02 JHol B
= AlA=ol M M2 Ll 18E 25 laLic

23 U

1x BT Y

www.kipp.com - info@kipp.com 1/6



EI.% I-I IAIAE‘II OJIII

=5 4Y/HIE o[0ix|

© HEINRICH KIPP WERK GmbH & Co. KG

HMIAZ]:

EYZ 2 E K0967.

AI2IE LEAF K0869.

I LFAF K0815.12045 / KO815.16055.
&8H K1752.

713 {77t U= B & K1753.
Z2|E& K175471 Q= EF &,
ZE2 K| K1755.

A O|M K1756.

%E.'—_*.*E ME K1757.

T&2 HE K1758

= +0I_ £ E K0954.

37|of et CHE

LcH (£

www.kipp.com - info@kipp.com 2/6



1830 e

|= S aHml A|AE] 9| X| 22 5120 X X2 ES

o

M

)

L6:0,02

L5t0,02

L4:0,02
13 =0,02

L2:0,02
L1 +0,02

Y

A

Y

N D6 »X“
= p4_, . D2
= “ | € A % I %
?l ll.‘: - k] : 12 “
— i E d :
o S i
B ps Il 1| [Lp17
D3 | pHb
B=50 » = 8 " NK NW
/ NF X 7
() | 5 | & |
3 _*_ g 2 21+ 18 5 2 a B 3 -”.:.‘Is 3 2 5 18 +21 2 o _*_ 33
1 ﬁ
<
—~ L =
F G Z
||||||I|i|||||IIII||||II|IIHIIJIIIIIIIIHII[IIII |II||||[I]|||IIIII||||l|||||||[|||||||III|| eI T
PP 11 g 111111 g Q1111 1 11 11 oy |
(N OATM AR luli NN

luli|||||||uu|||nu||||u||||||u|||||||||||

- ‘: ‘.l
it

U

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/6



o

n
ol

‘|I||Il||III||IIII||IIII|IIII||IIII|||II||]III||IIII||II||IIIIII|III[|IIIIl||III||II
||I|I||IIII|||III||IIII|IIIII||III|||II||]III||IIII||III|IIIIII||II[|IIII[|IIII||II

00O

e
I

Qy=@\=@=/= &
e I.u

fry)

NK
L7 D7 g 2L f
%éNF | : ux“
+ + '+ % \
_ \ /
i L

)
&

00— ©)— 0116
I ||||||[||||||||||||||||||[||||||||||||||||||||||||||l|||||||||lu

Jo

k0

Ok
=

IS ST Al2H AIX SH-

Hit SIZ=
_._

Y ELRES

© HEINRICH KIPP WERK GmbH & Co. KG

HII|||I|I||||I||I|||I||||||[|||I|||||||||||||II|||||||I|I||||||Ir,‘m||||I||||I|||||||I||||I|||||l|||||||l|||||||l||[||||||||\r"

N
D) E

&

Do © ¢
T e £

www.kipp.com - info@kipp.com

4/6



°
Cl= S AL X SR= sIEM IH L ES
EZS 29
FEHS B =T L H L L L1 L2 L3 L4 L5 L6 L7 =A== ZAET
min. max. max. kN max. Nm
K1830.05040001 50 Oi;mede 400 75 64 70 96 200 288 300 - - 30 15 55
K1830.05050001 50 Oi;med® 500 75 64 70 96 200 288 400 - - 30 15 55
K1830.05060001 50 Oime{® 600 75 64 70 96 200 288 400 500 - 30 15 55
K1830.05070001 50 Oimede 700 75 64 70 96 200 288 400 560 600 30 15 55
K1830.05040002 50 AMalold 400 75 64 70 96 200 288 300 - - 30 15 55
K1830.05050002 50 AMalold 500 75 64 70 96 200 288 400 - - 30 15 55
K1830.05060002 50 AMalold 600 75 64 70 96 200 288 400 500 - 30 15 55
K1830.05070002 50 AMgalold 700 75 64 70 96 200 288 400 560 600 30 15 55
K1830.07240001 72  Oi;m2{2 400 112 86 93 96 200 288 300 - - 40 25 60
K1830.07250001 72  Olme{® 500 112 86 93 96 200 288 400 - - 40 25 60
K1830.07260001 72  Olme{® 600 112 86 93 96 200 288 400 500 - 40 25 60
K1830.07270001 72  Oims{2 700 112 86 93 96 200 288 400 560 600 40 25 60
K1830.07240002 72 AMalold 400 112 86 93 96 200 288 300 - - 40 25 60
K1830.07250002 72 AMgalold 500 112 86 93 96 200 288 400 - - 40 25 60
K1830.07260002 72 AMezlold 600 112 86 93 96 200 288 400 500 - 40 25 60
K1830.07270002 72 AMglold 700 112 86 93 96 200 288 400 560 600 40 25 60
K1830.10040001 100 OHme2d2 400 1146 1015 1115 96 200 288 300 - - 70 35 85
K1830.10050001 100 Do 500 1146 1015 1115 96 200 288 400 - - 70 35 85
K1830.10060001 100 Oim2{2 600 1146 1015 1115 96 200 288 400 500 - 70 35 85
K1830.10070001 100 OHm2{2 700 114,66 1015 1115 96 200 288 400 560 600 70 35 85
K1830.10040002 100 Aldlold 400 1146 1015 1115 96 200 288 300 - - 70 35 85
K1830.10050002 100 AMldlold 500 1146 101,5 1115 96 200 288 400 - - 70 35 85
K1830.10060002 100 AM3lold 600 114,66 1015 1115 96 200 288 400 500 - 70 35 85
K1830.10070002 100 AMldlold 700 1146 1015 1115 96 200 288 400 560 600 70 35 85
FEHS B e L D D1 D2 D3 D4 D5 D6 D7 H1 H2 H3 H4 =R ZUET
max. kN max. Nm
K1830.05040001 50 Oim2{e 400 25 12 20 16 175 11 M5 M6 50 25 12 16 15 55
K1830.05050001 50 OHme{® 500 25 12 20 16 175 11 M5 M6 50 25 12 16 15 55
K1830.05060001 50 OHme{e 600 25 12 20 16 175 11 M5 M6 50 25 12 16 15 55
K1830.05070001 50 Oime{e 700 25 12 20 16 175 11 M5 M6 50 25 12 16 15 55
K1830.05040002 50 AMalold 400 25 12 20 16 175 11 M5 M6 50 25 12 16 15 55
K1830.05050002 50 AMdlold 500 25 12 20 16 17,5 11 M5 M6 50 25 12 16 15 55
K1830.05060002 50 AMalold 600 25 12 20 16 175 11 M5 M6 50 25 12 16 15 55
K1830.05070002 50 AMalold 700 25 12 20 16 175 11 M5 M6 50 25 12 16 15 55
K1830.07240001 72 Olm2{2 400 25 16 26 16 175 11 M6 M6 72 40 15 235 25 60
K1830.07250001 72 Ojm2{e 500 25 16 26 16 17,5 11 M6 M6 72 40 15 235 25 60
K1830.07260001 72 Olm2{® 600 25 16 26 16 175 11 M6 M6 72 40 15 235 25 60
K1830.07270001 72 Olm2{e 700 25 16 26 16 175 11 M6 M6 72 40 15 235 25 60
K1830.07240002 72 AMdlold 400 25 16 26 16 17,5 11 M6 M6 72 40 15 235 25 60
K1830.07250002 72 AMdlold 500 25 16 26 16 17,5 11 M6 M6 72 40 15 235 25 60
K1830.07260002 72 Mdlold 600 25 16 26 16 175 11 M6 M6 72 40 15 235 25 60
K1830.07270002 72 AMgdlold 700 25 16 26 16 17,5 11 M6 M6 72 40 15 235 25 60
K1830.10040001 100 OHmEd2 400 25 16 26 16 175 11 M6 M8 72 426 15 235 35 85
K1830.10050001 100 OHmed2 500 25 16 26 16 175 11 M6 M8 72 426 15 235 35 85
K1830.10060001 100 OHme{2 600 25 16 26 16 175 11 M6 M8 72 426 15 235 35 85
K1830.10070001 100 OHmed2 700 25 16 26 16 175 11 M6 M8 72 426 15 235 35 85
K1830.10040002 100 Mol 400 25 16 26 16 175 11 M6 M8 72 426 15 235 35 85
K1830.10050002 100 AM3lold 500 25 16 26 16 17,5 11 M6 M8 72 426 15 235 35 85
K1830.10060002 100 AMlold 600 25 16 26 16 17,5 11 M6 M8 72 426 15 235 35 85
K1830.10070002 100 Mol 700 25 16 26 16 175 11 M6 M8 72 426 15 235 35 85
FEHS B E&1 L F G Z NK = NF = NW =
LAY AT AW 237 LAHNFHE L2337 HolpFMz MMz IIE
DIN 912 DIN 912 DIN 912 pJ I B V] ES IES
K1830.05040001 50 OHII242 400 M10x30 M12x25 M12x30 4 1 4
K1830.05050001 50 OHI124{2 500 M10x30 M12x25 M12x30 4 1 4
K1830.05060001 50 OHI1242 600 M10x30 M12x25 M12x30 4 1 4
K1830.05070001 50 OHTIE42 700 M10x30 M12x25 M12x30 4 1 4
K1830.05040002 50 AlzlolMd 400 M10x30 M12x25 M12x30 4 1 4
K1830.05050002 50 AllzolMd 500 M10x30 M12x25 M12x30 4 1 4
K1830.05060002 50 AllzolAd 600 M10x30 M12x25 M12x30 4 1 4

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 5/6



°
Cl= S AL X SR= sIEM IH L ES
Z= 0

FEHS B ZE1 L F G Z NK = NF = NW =

AAH AR  AFAFHE AR A= AIF  HOHEBYEZ DHAFS ZEHE

DIN 912 DIN 912 DIN 912 Nz VIES IES
K1830.05070002 50 All2lo]d 700 M10x30 M12x25 M12x30 4 1 4
K1830.07240001 72 OHL12{2 400 M14X1,5X50 M16x40 M16X50 2 1 2
K1830.07250001 72 OHI1E42 500 M14X1,5X50 M16x40 M16X50 2 1 2
K1830.07260001 72 OHIIE42 600 M14X1,5X50 M16x40 M16X50 2 1 2
K1830.07270001 72 OHII242 700 M14X1,5X50 M16x40 M16X50 2 1 2
K1830.07240002 72 Alzlold 400 M14X1,5X50 M16x40 M16X50 2 1 2
K1830.07250002 72 Al2olM 500 M14X1,5X50 M16x40 M16X50 2 1 2
K1830.07260002 72 Alzlo|lMd 600 M14X1,5X50 M16x40 M16X50 2 1 2
K1830.07270002 72 Alzlold 700 M14X1,5X50 M16x40 M16X50 2 1 2
K1830.10040001 100 OHIIEH2 400 M14X1,5X50 M16x40 - 2 1 2
K1830.10050001 100 OHII242 500 M14X1,5X50 M16x40 - 2 1 2
K1830.10060001 100 OHIIZ42 600 M14X1,5X50 M16x40 - 2 1 2
K1830.10070001 100 OHIIE{2 700 M14X1,5X50 M16x40 - 2 1 2
K1830.10040002 100 Aldio|Ad 400 M14X1,5X50 M16x40 - 2 1 2
K1830.10050002 100 Al20olM 500 M14X1,5X50 M16x40 - 2 1 2
K1830.10060002 100 AEo]ld 600 M14X1,5X50 M16x40 - 2 1 2
K1830.10070002 100 AlzolM 700 M14X1,5X50 M16x40 - 2 1 2

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 6/6



